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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Wherever any assumptions are made for answering a question, they must be clearly indicated.
Diagrams/Figures, wherever required, shall be drawn in the space provided for answering the
question itself.

Unless otherwise mentioned, symbols and notations carry their usual standard meanings.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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SECTION A

Ql. (a) UF HR fw fufd @ 6 m/s2 & o1 F 19 T IR L & S s 999 %
|11 Waeha: T 10 Fvs F Y@ A AT ], TEIvET HR FOR T A Tordt
Tl 8 | R HT1 A ¥ 400 m o 1 S a0 Hiet Faiia S |

A car starts from rest with an acceleration of 6 m/s2 which decreases
linearly with time to zero in 10 seconds after which the car continues at
a constant speed. Determine the time required for the car to travel
400 m from start. 10

(b) Wk TR dH dR A R diee grr Feiftg 2 | aft ar & e =1 afmmr 2500 N
8, @ Hiee W x, y a1 z Rewnsit # fmmiia aa wewl @1 fukor S |
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A tower guy wire is anchored by means of a bolt at A. If the magnitude
of the tension in the wire is 2500 N, determine the components of the
force acting on the bolt in the x, y and z directions. 10

© @) Th " ous gaen fa & gufd w2 | fag Hift 6w o st
TG B |

A five-bar chain is shown in the figure. Prove that it is an

unconstrained chain. 5
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5

(d) HIRTFaT U H qRwiia Hifne | -8 HR HIRINIAT Ht THITET Hea & 2
Define the term hardenability. Which factors affect hardenability ? 10

(€) Th W Hit shifieh i wrr Frifta e Rt =@ 25 mm @ o
O-Sm%,aﬁtshnwﬁwﬁrmlkgm%mﬁﬁmg@ﬁﬁaél
WY Ye1d 1 99 50 g/em3 T4 I WY 2 x 106 bar 2 |
1kg

¢———08m ———»

Determine the whirling speed of a shaft 25 mm diameter and 0-8 m long
with a mass of 1 kg placed at mid span, simply supported at ends. The
density of the shaft material is 50 g/cm® and Young’s modulus is
2 x 108 bar. 10
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Q2. (1) Yoy T Te % Pftvd fog W WER 120 MN/m?2, 60 MN/m? aR#mT %
Sifeerd:; HRG JEHF o9 Yfaes & | 39 TaAm@T, 80 MN/m? sl 39&qY|
Titae, e gfiedl | Saqm= 9 8 $REE # |
frutor iRt
() 9gea gfaset w1 gfemr ug e
(i) oARrRan qEqur yfdsre =1 qimmr g feen
(iii) 120 MN/m2 Sfdser st feum @ 30° % d6 R THAHRT TS GEI0 Jfdaet

csy'=60MN/m2

ol

Oy 6, = 120 MN/m?2

——l—v‘r= 80 MImz

Oy

At a certain point in a piece of elastic material, there are normal tensile
stresses of magnitude 120 MN/m2, 60 MN/m?2 acting orthogonally to
each other. In addition, there is a shearing stress of 80 MN/m?2 acting
normal to the normal stresses.

Determine :
(i) the magnitude and direction of the principal stresses
(i) the magnitude and direction of the maximum shearing stress

(iii) the normal and shearing stress on a plane inclined at 30° to the
direction of 120 MN/m? stress 20

oy = 60 MN/m?

S

Ox oy = 120 MN/m?

—1—7 T= 80 MN/m2

Oy
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Determine the number of teeth and the speed of the pinion where
the driven gear wheel has 60 teeth of 10 mm module and rotates at

300 rpm. The two spur gears have a velocity ratio of i Also

compute the pitch line velocity. 10

(i) T 600 mm gt R @ Q g wur=aw WMwel TR el grr dag
fSha1 ST 8 | T MW F 360 rpm TH GW H 120 rpm W PEAT |
it st Afirepew hifsre 3z gefie o=e 25 mm R |

Two parallel shafts, about 600 mm apart, are to be connected by
spur gears. One shaft is to run at 360 rpm and the other at
120 rpm. Design the gears, if the circular pitch is to be 25 mm. 10

(c) x-AY & "G SHIThd &  Tgea el 1 Fufwor Hifdmg |

y
l(— 240 mm——>|

Determine the moment of inertia of the shaded area with respect to the
X-axis. 10

B/
L% 240 mm A>|

/

120 mm

%
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s hifsre |
90 kN 54 kN 22 kN/m
A E
B C D \
[T8m “34m 3m 224 m =

Draw the shear force and bending moment diagrams for the beam and
loading shown. Also determine the maximum values of shear force and

bending moment along with their respective locations. 20

90kN 54 kN 22 kN/m

L[]

A

“T8ml 24m |

E
B C

im 1 2dm |

(b) Th QT TEK T YT 300 mm T & | ST YT YU e T YT € |
fraeft yomd v 1w ¥ 40 mm F g W T F g Fer § | Wlig W HR
1 T 70 kg TN TAF siet P goT9H 10 kg @ | Hgfera =T shl TOMAT
i wEfe Stal i gui B 200 mm ¥ | AR T, e W 20 N R F
W%,awf@%ﬁmﬁm(@ﬁm)wﬁﬁ?

The arms of a Porter governor are 300 mm long. The upper arms are
pivoted on the axis of rotation. The lower arms are attached to a sleeve
at a distance of 40 mm from the axis of rotation. The mass of the load on
the sleeve is 70 kg and the mass of each ball is 10 kg. Determine the
equilibrium speed when the radius of rotation of the balls is 200 mm. If
the friction is equivalent to a load of 20 N at the sleeve, what will be the
range of speed for this position ? 20
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Q4.

(e

(a)

ﬁw%%aﬁwamiwmmaﬁﬁ%aﬁ@mﬁamﬁaﬁw:
i (@@on)

(i) (110)

(i) (221)

Draw the following crystallographic planes in cubic unit cell : 10
@ (01

(i) (110)

(iii) (221)

U 90 cm T, 20 cm AR SIH T6 8 mm HILT AT 41g HI JeHHR
N TYHSEAT T W WA @ 9T 2 | Ffe 20 em3 fofes e o & 31w
99 fera STe, Y s i

(i) T b G AT W IR T T
(i) 3@ ufeha gfee
ﬁEIT RIC ) % 2
I A = 2 x 105 N/mm?2
WE HIIE = 0-3
A cylindrical shell 90 ecm long, 20 cm internal diameter having thickness

of metal as 8 mm is filled with fluid at atmospheric pressure. If an
additional 20 cm3 of fluid is pumped into the cylinder, find

(1) the pressure exerted by the fluid on the cylinder.

(ii) the hoop stress induced. 20
Given :

Young’s modulus = 2 x 105 N/mm?2

Poisson’s ratio = 0-3
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() oz ¥ ewie sER o wEis () ofa: dgfora dar 2 99 2 kg 3K 1-2kg
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AT o Gdfeia geanT x-314 % WY § Wafh D 9@ A I8 120 mm e w
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120°

T D

250

J c
J
] f
Ny

A rotor is completely balanced when masses of 2 kg and 1-2 kg are added
temporarily in planes A and D each at 200 mm radius as shown in the
figure. The balanced mass in the plane A is along the x-axis whereas in
the plane D, it is at 120 mm radius. Determine the magnitudes and the
directions of the masses B and C. 20

e,
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(© F aiEr (W W) § famrett i dem  snur W ANueredl w5 afieor
I | I-FT=1 are gt o THAY o G YA IYNTH R 2
Classify the nano-materials depending on the number of dimensions in

the nano range. What are the two basic approaches for processing of
nano-structural materials ? 10
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Q5.

(a)

(b)

(c)

(d)

Qs B
SECTION B

HIoH # ‘Afdish’ g & MY T T & ? [ Al HgHaT § A6RT |
What do you understand by the term ‘flash’ in a forging ? Explain with

the help of a sketch.

s fog a9 W H YA MW 25 mm TAT AhaT FTH 5 G FHTRA
ARINA 0-02 mm 3R a9 JFTHI 0-01 mm 2 | 5 T afgsyan e i
afespar @ 1-5 7 ® | fog e e St R dimrd e i

() fog smafa ugfa g |

Gi) R Ui yghki gw |

A hole and shaft have a basic size of 25 mm and are to have a clearance
fit with maximum clearance of .0-02 mm and a minimum clearance of
0:01 mm. The hole tolerance is to .be 1-5 times the shaft tolerance.
Determine limits for both hole and shaft

(i) using a hole basis system.

(il) using a shaft basis system.

75 mm SIE & T AT R was (W fufem &) g soral @ i
gfgm B A TR0 qon Fdq Te0E W AlRdT FH W FHdw hl =
200 & 260 rpm G & HRUT 3R 1Y T 50 firFe | 30 firme & 5 | 3l
oA 120 rpm B qAT A A I JURGTGd TG ST, T hao hl Y
= gt ?

The life of a plain milling cutter of diameter 75 mm was found to
decrease from 50 minutes to 30 minutes due to increase in speed of the
cutter from 200 to 260 rpm while milling a cast iron plate at given feed
and depth of cut. How much would be the life of that cutter if the speed
is 120 rpm keeping other parameters unchanged ?

10

10

10

faftm yopr & @9 it +t TEiag v | Seg sif=ma aon wha

afir=ma &Y gan hifse |

Enlist various types of plant layouts. Compare product layout and
process layout.
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() T ol foreft a%g il Tl IR § S Y AT sS4 B | A SRl T 5
W W R @ T E e wft o fash arelt awqd amom Sl | e
fortrn = 2,000 2 | FEGE T 9 X W a=h St |
JMavTH &9 Y =it I el S H g 7 Hifg i
(i) e U S |
(i) T 400 AT O & |
(i) A HUH 750 TEgedt Sl B, 9 GRan ge W@ o < 7o iR |
A company plans to sell an article at a local market. The articles are
purchased at ¥ 5 on the condition that all unsold articles shall be

returned. The rent of the space is ¥ 2,000. The articles will be sold
at T 9.
Determine the number of articles which must be sold

(1) To break-even.
(ii) To earn T 400 as profit.

(iii) If the company sells 750 articles, calculate margin of safety and
profit. 10

i;'l. (a) Tfafas sfafa & Sier g o aig 1 93 #1 g anftes @ (<)
* H YT T fh TR 9o WE hdd 9@ % & Wes % uiHm
SHAST: 600 N G911 200 N 2 |

At o = 0°

arfess Afd = 0°

T i 9R H7 (¥ ¢fire) = 90°

B TgH (Freawe) Tones = 1-732
Sugw feufa & e 7o & 99 oTR@ &1 99 W g, ATEIV S a9l
oYU 9 o gfmmen < o Al |
During pure orthogonal turning of a metal rod by a tool of the following
geometry it was noted that the magnitudes of the tangential component

and the axial component of the cutting force are 600 N and 200 N
respectively.
Inclination angle = 0°
Orthogonal rake = 0°
Principal cutting edge angle = 90°
Chip reduction coefficient = 1-732
Using Merchant’s circle diagram, determine the magnitudes of the
shear force and the frictional force for the above condition. 20
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(b) TS UH g @UE AT A2 @WUe W fAftfa foram s wehar R | we & wshH
H TTa @ g Y e AR G R
feem EoRCI [ACRC L
o ALY T 30 firFe 120 fire
o ThH WY 10 fire 5 e
o 3V fo=umg @ E () 200 500
o e T i weT T 2 T 2
o UIBM WH 3 AN fd el T 10 T 20

IR o= @rra i wUTs U ¥ ° i A R ad1 STRWl 1 His gREdd
& ] | rraversharsii ® & =g (die) #§ g foman 9 R

G U gEn o K e faes sust |rTa @1 gions 2 8@ o
(BEP)

(i) @G % W & "oy ¥ Forias e A

(iii) A& 800 FTT et o <ht SArervErhal B, W Y P A AT B 2 0

A component can be manufactured either on a centre lathe or on a turret
lathe. The cost and time information to process a component is given

below :
Particulars Centre lathe | Turret lathe
e Set-up time 30 minutes | 120 minutes
® Processing time 10 minutes 5 minutes
e Tooling-up cost (T) 200 500
e Labour cost/hr T2 T 2
e Depreciation and other costs per hour T 10 T 20

The tooling-up cost is to be recovered within a year and there are no
repeat orders. The requirements are to be met in two lots.

@)

Calculate the quantity at which both alternatives result in equal

cost. (BEP)

(ii) Give the decision rule regarding the choice of lathes.

(iii) If the quantity required is 800 nos/year, which of the machines do

URLC-U-MCHE
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(00 oo WiE grin Mg uig ok deed (M Hed 3rh dfeet) whe # gF arat
g TR0l YshH <l =ATEa IR |

Explain the process of metal transfer in gas metal arc welding process
with neat sketches. 10

Q7. (a) U H9 g Neifie it wifoes gewt H fohl f= & 1€ | amEw
(form) faftr & g ormet i @t f went i ain H g@igata Hivw

CL fesh 000)
1986 30
1987 33
1988 37
1989 39
1990 42
1991 46
1992 48
1993 50
1994 55
1995 58

The sales for a critical component manufactured by a company are given
below. Forecast the demand for the components for the next three years

using regression method : 20

Years Sales ("000)
1986 30
1987 33
1988 37
1989 39
1990 42
1991 46
1992 48
1993 50
1994 55
1995 58
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Q8.

(b)

(e

(a)

Th T TR 127 mm % TR =@ @ 102 mm F 3ifm =9 9%
90 m/min T Tfd & HfFa frm T ¥ | =€ W iy B 60 R G
FABIE (ST9-818) SFATYSS T oduraurish 0-1 2 | 3990 F g A W
W& 207 N/mm? & T0va Sfiad 30 § | Tk qued T 05 Rl ®
414 N/mm? G T0we gfesre foamar 3 | vqref # Y sl fph @ag =
T Y RN WRE wd It e’ % iy st @i eseor ) om
HIRT | 1D H 31 B a9 I T8 2 |

A steel wire is drawn from an initial diameter of 127 mm to a final
diameter of 10-2 mm at a speed of 90 m/min. The half-cone angle of the
die is 6° and the coefficient of friction at the job-die interface is 0-1. A
tensile test on the original steel specimen gives a tensile yield stress
of 207 N/mm2. A similar specimen shows a tensile yield stress of
414 N/mm? at a strain of 0-5. Assuming a linear stress-strain
relationship for the material, determine the drawing power and the
maximum possible reduction with the same die. N6 back tension is
applied.

SIAEA. JIT) & Yo Uehl I Gelag HIY a0 FAaT 06 (HAsH
1) hi WY #§ sgear iU |

Enlist the basic elements of JIT and explain Kanban card in brief.

T g9l 1 arfiss wiT 2500 I (S99) B | SO TH YSEE @ 7E H T 750
a9 hi @ | Tl } | S gRT g g v 18% 9RY i v
IY 8 TAT AT A T 1,080 A W B | HHH 9§ §F 250 feaw Hrt et
2 1 38 9ot % fu st B fore weer geft-ammit fror ot 6 sifiereg
HT =N(EY 2 39 Ao H Tyl T o gl 2

The annual demand for a component is 2500 boxes. The company
procures the item from a supplier at the rate of ¥ 750 per box. The
company estimates the cost of carrying inventory to be 18% per unit per
annum and the cost of ordering as ¥ 1,080 per order. The company
works for 250 days in a year. How should the company design an
inventory control system for this component ? What will be the overall
cost of the plan ?
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(B) ch%amaﬁanaﬁhaﬂﬁaﬁﬁwmwﬁm%ﬁmmﬁwm
1 iR tH TR e afa ¥ Raed € § agen ™R |

Determine the percentage change in the machining time for a USM
(Ultrasonic Machining) operation cutting WC plates when the tool

material is changed from copper to stainless steel. 20

© oreques Pmtn (e S=peeafar) % o wa aiefnd ®&n § 2 sredes Ruin
eI I TG T 3T ATt HieATgEl 1 ==l HIRT |
What are the advantages and limitations of lean manufacturing ?

Discuss the difficulties in adopting lean technique. 10
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